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1 HOo™ = UX|25 8 5325 (2F)
2 ZOod = AUX[2ZH 5015 (%)
3 0jOH = AUX|2z 2 5013 (%)
4 MwQOnzia ... = YUX[2= 2 5323}H(ZHE)
5 ZoF o Moj7= & 5115 (X5)
6 AHoHl o MO75 2 6145 (%)
7 o o HOj7Z 2 6135 (%)
8 4o o MOY75 2 61435 (FZ)
9 ZOx| o o722 5135 (%)
10 o o MOj75 3 6115 (%)
11 420 o MOj7Z & 5125 (X5)
12 dxlo o MOY75 2 21135 (FZ)
13 gOo2 o Moj7= & 5135 (X5)
14 {0k o MOY75 3 5125 (%)
15 EHOES o M7= 6125 (X5)
16 EHOL] of AMO|75 2 6125 (2 %)
17 =08 of Mof7= 2 6113 (ZH)
18 o|Onj o AMOI75 2 5145 (£1%)
19 ZOM o o722 5115 (%)
20 £OoF o MOY75 2 61335 (FZ)
21 TU DONDON o AMOj75 2 5145 (25)




